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1). Identify the word pair and fill in the blanks.
a) Adenine : Thymine
b) DNA : Thymine
RNA ...

2).Find out the odd one and mention the general character of others.
Adenine, Cytosine, Uracil, Guanine

3). Find out the nitrogen base which is not included in RNA?
Adenine, Thymine, Cytosine, Uracil

4). Analyse the given nitrogen bases and pair the nitrogen bases as seen
in DNA.



https://youtu.be/QxiG1JKPQzo

5) Identify the 1962 Nobel prize winners,what is their contribution to the world of
science?

6). Observe the figure given below and answer the following questions.

&Q

a) Identify the figure.
b) What do P, S and N indicate?

7). ‘Nucleotides are seen only in DNA'. Do you agree with this statement?
Justify your answer
8). Pick out the wrong statements and correct it.

* In DNA, the adenine pairs only with cytosine and guanine pairs only with
thymine.

» Carriers of heredity are the genes present in DNA.
* DNA has adenine, thymine, cytosine, uracil nucleotides.

* DNA is Deoxyribonucleotide.










